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1. Find the point on the graph of f(x)=v-x+8 so that the point (2, 0) is closest to the gra'ph,‘
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2. A rancher has 200 total feet of fencing with which to enclose two adjacent rectangular corrals. What
dimensions should each corral be so that the enclosed area will be a maximum?
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3. The area of a rectangle is 64 square feet.
perimeter?
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What dimensions of the rectangle would give the smallest
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4. A rectangle is bound by the x — axis and the graph of a semicircle defined by Ey =v25—x2 ; What

length and width should the rectangle have so that its area is a maximum?
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5. A rectangle ABCD with sides parallel to the coordinate axes is inscribed in the region enclosed by the

graph of y = —4x? + 4 as shown in the figure below. Find the x and y coordinates of the point C so that
the area of the rectangle is a maximum.
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6. Find the maximum volume of a box that can be made by cutting squares from the corners of an
8 inch by 15 inch rectangular sheet of cardboard and folding up the sides. & LXK H

, - x = lemgis § ot Cin)
- '3 K vz Voluwe
8 T Ox
i re (S -
(S
@ \/: ag‘—?)&\(g’oﬁ " ( %::‘ SI A/]‘_ Esb V( G\I\MQ,S '?vmh ++° — aof
- “+ q‘fa)x v - - = SRR S0 Voluwe 15 woaximadl.
V:@:o»/w o X o % /¥
y= [P0 et <%
3 T (0% ®© -2k (573) in>
v = dx —dbx V:Eg-a(’lsﬂig 2(
ORVE [2x —Aalx 120 e i wion woliont
= qox* (5 u .
v's 4(3&2-337‘*303\) L ax
= -S*,"%x
RN PP T L en
+30
(I V‘ uwnd -5_"1_5-%-!81
\V4 ‘s—o , Nb:.(, :G:_s;}.(,(‘s-n -5)
b Tk ’ B.Fg'x_x—w)

AP* Calculus AB Page 61 of 72



7. The volume of a cylindrical tin can with a top and bottom is to be 1 (jn cubic inches. Mm
amount of tin is to be used to construct the can, _Eat must the heigh{) in inches, of the can be?
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